EARAROBEEIERT — 2 N— IBISH —F

20135108240 (K) 12EI%#A3H

mﬂﬁ%c 448 C4 5% (w8 | 1mEmml - |5 6) v s
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. S FRINARI :28. -1-1- . — HIEER (1)
AP S IN==F o4 ZhB 1(2_8)7 1-1-1-1 | 40.1 4 ;1:125) Lt 2
A4 TAT v — BiNAFLy hXXH fult e ]
- —_ o4 | BHEE 1:28.8 5-5-5-3 | 37.4| — 2 446 | FRILZEME (S542)
olglg |l V¥=ADF7=2 56.0 (1/2) (-2) E#ﬂﬁ'k :
L:T7RIf YTy 7R B:YYZ>/—F42R SRS
37| 7| N FLINST it 6 ;%_Egﬂlk 1:(229>.2 4-4-4-3 | 38.4| — 2 ig? ﬁgg (%E4R)
R:77)—h B:7E~ NV E LS
e 4 4 | BREHE 1:29.3 3-3-3-3 [39.1| — 5 519 | REER (542)
4l8|9|lEE—EI 56.0 (1/2) ) |ENEX :
AN AF2—) B:LAYX LA AE =i
S 2 5 | B 1:29.6 2-2-2-2 | 39.8| — 1 472 | IUBBAE (554R)
5 N 2 RZ~vT719v 774 - 56.0 (11/2) (o) |EEET :
LTRALT Y KFA4 BEZLH-NELR XF A
S i 5 | RERZ 1:29.8 8-7-7-7 |37.6| — 8 467 | WIHIER (55H2)
N AR 54.0 s oy | () PN
R:Z2=yYzlb B:h—FKIE—FZ me =A
N B4 | toEEE 1:30.6 6-66-6 | 39.0 | — 9 487 | BEEHIE (5H2)
75 BALEAN)T—> .0 @ N G) 7 P N
RRFAT—IK By LYLoO-N DS
S # 5 | EHEN 1:31.0 9-9-9-8 [36.9| — 6 481 | LIREBR (%HR)
slid 6| PR/ ¥Ex 56.0 %) e | @ J P N
R:7V%tx B:TH-bT1—> NOERNTT =L
S 4 5 | WTHZ 1:36.6 7-8-8-9 |42.8| — 7 469 | NEREEER (55HR)
ol 4| 7V ILE— A51.0 (51%) +2) () K247
LBy TELZAVF— B:SAFH-I SH Hi
® I—F—@EBIERL
13—7F— 1,2,9,7,8,5,4,3,6
Ao=5"= 1,2,9,7,8,5,3,4,6
3T—7— 1,2,9,7,8,5,3,4,6
40—F— 1,2,(7,8,9),5,3,6,4
[ RN
B 1 880 794K 1-8 530 & 1-8 1,580 &R 1-7-8 4,480/
7 B 1 170 1-7 880 | | B = 1-8 1,910 | | &8 1-8-7 19,270
8 170 7-8 1,000H B H 1-8 4,460
7 1909

ABICOVWTRDTEEERROODE. TR LIV,




